



(An Autonomous Institution) Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & amp; Accredited by NBA (B.E - CSE, EEE, ECE, Mech & amp; B.Tech.IT) COIMBATORE-641 035, TAMIL NADU

GIREEN'S THEOREM IN A PLANES SAVE Sal a If R is a closed region of the XY Plane bounded by a simple closed curve C and if M and N are continuous functions of x and y having continuous derivatives in R then Mdx + Ndy (dN dx $-\frac{\partial M}{\partial y}dxdy$ Ξ Where c is a curve traversed in the anticlockwise direction. PROBLEMS : norm a to b - an Evaluate by Gireen's theorem $(\chi + \chi)$ Where c is the square formed by $\chi = -1$, $\chi = 1$, Solution ;





(An Autonomous Institution) Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & amp; Accredited by NBA (B.E - CSE, EEE, ECE, Mech & amp; B.Tech.IT) COIMBATORE-641 035, TAMIL NADU

Let R be the region enclosed by C.
By Green's theorem,

$$\int_{C} M dx + N dy = \iint_{R} \left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right) dx dy$$
Here $M = xy + x^{2} \Rightarrow \frac{\partial M}{\partial y} = x$
 $N = x^{2} + y^{2} \Rightarrow \frac{\partial N}{\partial x} = 2x$
 $\int_{R} (xy + x^{2}) dx + (x^{2} + y^{2}) dy = \iint_{R} (2x - x) dx dy$.
 $= \iint_{R} \left[\frac{x^{2}}{2} \right]_{-1}^{T} dy = 0$
(a) Evaluate by Green's theorem $\int_{R} e^{x} (\operatorname{Siny} dx + \cos y dy)$
where c is the rectangle with vertices $(0, 0)$, $(\pi, 0)$,
 $(\pi, \pi|_{A})$, $(0, \pi|_{A})$.
Soln:
Let R be the region enclosed by C.
By Green's theorem,
 $\int_{C} M dx + N dy = \iint_{R} \left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right) dx dy$
Here $M = e^{-x} \sin y \Rightarrow \frac{\partial M}{\partial y} = e^{-x} \cos y$
 $N = e^{-x} \cos y \Rightarrow \frac{\partial N}{\partial x} = -e^{-x} \cos y$
 $\therefore \int_{C} e^{x} (\sin y dx + \cos y dy) = \iint_{R} (-e^{-x} \cos y - e^{-x} \cos y)$
 $(-e^{-x} \cos y - e^{-x} \cos y)$





(An Autonomous Institution) Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & amp; Accredited by NBA (B.E - CSE, EEE, ECE, Mech & amp; B.Tech.IT) COIMBATORE-641 035, TAMIL NADU

$$\begin{aligned} \pi/a \pi \\ &= \int_{0}^{\pi/a} \int_{0}^{\pi} (-2e^{-x}\cos y) dx dy \\ &= -2\int_{0}^{\pi/a} \int_{0}^{\pi} e^{-x} \cos y dx dy \\ &= 2(e^{-\pi}-1). \end{aligned}$$

$$(3) \text{ Evaluate by Gireen's theorem} \\ \int (x^{2} - \cosh y) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cosh y) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cosh y) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cosh y) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y + \sin x) dx \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y + \sin x) dy \text{ where } c \text{ is the } \delta (x^{2} - \cos hy) dx + (y - \sin hy) dx dy \\ \int (3x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is the } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } c \text{ is } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } \delta (x^{2} - 8y^{2}) dx + (4y - 5xy) dy \text{ where } \delta (x^{2} - 8y^{2}) dx \text{ where }$$





(An Autonomous Institution) Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT) COIMBATORE-641 035, TAMIL NADU

ioy dx dy y?) dy $\log y \left[x \right]_{u^2}^{\sqrt{y}} dy = \int \log \left(\sqrt{y} - \right) dy = \int \log \left(\sqrt{y} - \right) dy = \int \log \left(\sqrt{y} - \frac{1}{y} \right) dy = \int \log \left(\sqrt{y} \right) dy =$ $(y^{3/2} - y^{3}) dy = 10 \int \frac{y^{5/2}}{5/2} - \frac{y^{4}}{4}$ = 3/2 $= 10 \left(\frac{3}{5} \right)$ $\frac{1}{4} = 10$ $\left(\frac{8-5}{20}\right)$ Stepa: To evaluate AU Mdx + Ndy we 7=1 take C in different paths (i) along OA (y=x2). 4=0 (ii) along AD $(x = y^2)$ (i) Along OA $\int M dx + N dy = \int \left[3x^2 - 8x^4 \right] dx + \left[\frac{1}{7}x^2 - \frac{1}{7}x^2 \right] dx$ OA OA $h(inx^2 = y, axdx = dy)$) dx (:- Along OA, x vasies from o to 1) - 12 2ª $\int (-20x^4 + 8x^3 + 3x^2) dx$ $\frac{-20x^{5} + 8x^{4}}{5} + \frac{8x^{4}}{4} + \frac{3x^{3}}{3} = -1$





(An Autonomous Institution) Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai Accredited by NAAC-UGC with 'A++' Grade (Cycle III) & amp; Accredited by NBA (B.E - CSE, EEE, ECE, Mech & amp; B.Tech.IT) COIMBATORE-641 035, TAMIL NADU

(ii) Along Ao:

$$\int Mdx + Ndy = \int (3y^{4} - 8y^{3}) 2y dy + (4y - by)$$
Ao

$$Ao$$

$$(\because y^{2} = x, 2y dy = dx)$$

$$= \int (by^{5} - 1by^{3} + 4y - by^{3}) dy$$

$$= \int (by^{5} - 2ay^{3} + 4y) dy \quad (\because Along Ao \ y \ value from \ 1 \ to \ 0).$$

$$= \left[b \frac{y^{b}}{b} - 2a \frac{y^{4}}{4} + 4 \frac{y^{2}}{2} \right]^{0}$$

$$= 5/a.$$

$$\int Mdx + Ndy = \int Mdx + Ndy + \int Mdx + Ndy$$

$$= -1 + 5\frac{y}{2} + 10 \text{ prode} (1)$$

$$= \frac{3}{2} (\longrightarrow 2) \text{ for and } (1)$$

$$= \frac{3}{2} (\longrightarrow 2) \text{ for and } (1)$$

$$= 3\frac{y}{2} + 4y \text{ for and } (1)$$